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NI
H H 1H 5H 6H 7H 8H 9H 104 114 12H 1A 2H 3A ) N i/
pH 73| 73| eo| 74l 72| 73| 71| 72l 7| 72| 7ol 73| 74| 72| 72| 75| 75| 73| 74l 74l 75| 73| 78| 74| 73| 75| e
(m;jfm 130 120 140|140 110 130 160| 110|130 120 1200 30| 110]  1s0]  1s0| 110|100 99 94 87| 1200 10| 130  160] 120|160 87
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AT FRRE FARH gy bty 2 — KERAERE [E4R- ]

Jikit Ak TE T IRERIE0) L O E T (BT :mg/L)
H A 5 6 7H 8 /i 9 A 10 A 11 A 12 A 1 A 2 A 3 A | Rk | Ron |
n—~H AT E 1.0 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 0.9 <0.5 0.7 1.1 1.2 0.6 <0.5 1.2 <0.5 5
7=/ VI - <0.1 - <0.1 - <0.1 - <0.1 = <0.1 - <0.1 = <0.1 = <0.1 = <0.1 - <0.1 - <0.1 - <0.1 <0.1 <0.1 1
5 0.02 0.01 0.01 0.02 0.01 0.01 0.02 0.05 0.02 0.01 <0.01] <0.01 0.01] <0.01 0.01 0.01 0.01 0.01 0.01 0.01 0.02 0.02 0.01 0.01 0.05] <0.01 2

L 0.01 <0.01¢ <0.01] 0.01 <0.01] 0.01 <0.01] 0.01 <0.01] 0.01 <0.01 0.01 0.01] 0.01 0.02 0.01 0.02 0.02 0.01 0.02 0.02 0.02 0.02 0.01 0.02] <0.01 2
TARIESR 0.43 0.28 0.30 0.28 0.30 0.31 0.28 0.24 0.08 0.07 0.09 0.07 0.08] 0.08 0.12 0.16 0.19 0.29 0.28 0.35 0.42 0.36 0.41 0.24 0.43 0.07 10
e~ 0.11 0.10 0.12 0.13 0.10 0.08 0.09 0.07 <0.02| <€0.02: <0.02[ <0.02: <0.02[ <0.02: <0.02[ <0.02: 0.11 0.10 0.10 0.09 0.11 0.07 0.11 0.07 0.13] <0.02 10
e <0.05] <0.05: <0.05] <0.05: <0.05[ <0.05; <0.05] <0.05i <0.05[ <0.05:; <0.05] <0.05: <0.05] <0.05: <0.05] <0.05; <0.05] <0.05: <0.05[ <0.05: <0.05] <0.05: <0.05] <0.05] <0.05] <0.05 2
IRV A <0.003 <0.003} <0.003] <0.003} <0.003] <0.003: <0.003] <0.003: <0.003] <0.003: <0.003] <0.003: <0.003] <0.0031 <0.003| <0.003: <0.003[ <0.003i <0.003[ <0.003} <0.003| <0.003: <0.003] <0.003] £0.003] <0.003] 0.03
T -1 <0.05 -1 <0.05 -1 <0.05 -1 <0.05 -1 <0.05 -1 <0.05 -1 <0.05 -1 <0.05 -1 <0.05 -1 <0.05 -1 <0.05 —|_<0.05[ <0.05[ <0.05 1
Atk A - <0.1 - <0.1 - <0.1 - <0.1 = <0.1 - <0.1 = <0.1 = <0.1 = <0.1 - <0.1 - <0.1 - <0.1 <0.1 <0.1 1

§i -1 <0.01 -1 <0.01 -1 <0.01 -1 <0.01 -1 <0.01 -1 <0.01 -1 <0.01 -1 <0.01 -1 <0.01 -1 <0.01 -1 <0.01 -|_<0.01| <0.01f <0.01 0.1

A2 A -1 <0.02 -1 <0.02 -1 <0.02 -1 <0.02 -1 <0.02 -1 <0.02 -1 <0.02 -1 <0.02 -1 <0.02 -1 <0.02 -1 <0.02 -] <0.02] <0.02[ <0.02 0.2

O # <0.01] <0.01: <0.01] <0.01: <0.01|] <0.01: <0.01] <0.01: <0.01f <0.01: <0.01] <0.01: <0.01| <0.01: <0.01] <0.01: <0.01] <0.01: <0.01] <0.01: <0.01] <0.01: <0.01} <0.01| <0.01] <0.01 0.1

e 7k 4R 0.0005K0.0005<0.0005K0.00050.0005K0.00050.0005 K0.0005 £0.0005 £0.0005 £0.0005K0.0005 0.0005K0.0005 £0.0005 K0.0005 £0.0005 K0.0005 £0.0005 K0.0005 £0.0005 K0.0005 £0.0005K0.0005 £0.0005 K0.0005] 0.005

T F VKR 0.0005K0.0005K0.0005K0.0005K0.0005K0.0005K0.0005K0.0005K0.0005 K0.0005 K0.0005K0.0005 £0.0005 £0.0005 0.0005K0.0005 K0.0005K0.0005 £0.0005 K0.0005 K0.0005K0.0005 £0.0005K0.0005K0.0005K0.0005 R
PCB —K0.0005 —K0.0005 —K0.0005 —K0.0005 —K0.0005 —K0.0005 —K0.0005 —K0.0005 —K0.0005 —K0.0005 —K0.0005 —K0.0005K0.0005K0.0005] 0.003
g -1 <0.01 -1 <0.01 -1 <0.01 -1 <0.01 -1 <0.01 -1 <0.01 -1 <0.01 -1 <0.01 -1 <0.01 -1 <0.01 -1 <0.01 -|_<0.01| <0.01f <0.01 0.1
7h7yauxLy -1 <0.01 -1 <0.01 -1 <0.01 -1 <0.01 -1 <0.01 -1 <0.01 -1 <0.01 -1 <0.01 -1 <0.01 -1 <0.01 -1 <0.01 -] <0.01] <0.01] <0.01 0.1
1,1,1-M7mnxyy - <0.1 - <0.1 - <0.1 - <0.1 - <0.1 - <0.1 - <0.1 - <0.1 - <0.1 - <0.1 - <0.1 - <0.1 <0.1 <0.1 3
Pufl R —1<0.002 —1<0.002 —1<0.002 —1<0.002 —1<0.002 —1<0.002 —1<0.002 —1<0.002 —1<0.002 —1<0.002 —1<0.002 —] €0.002] <0.002] <0.002] 0.02
vy, -1 <0.02 -1 <0.02 -1 <0.02 -1 <0.02 -1 <0.02 -1 <£0.02 -1 <0.02 -1 <£0.02 -1 <0.02 -1 <£0.02 -1 <£0.02 -|_<0.02| <0.02[ <0.02 0.2
R -1 <0.004 -1 <0.004 -1 <0.004 -1 <0.004 -1 <0.004 -1 <0.004 -1 <0.004 -1 <0.004 -1 <0.004 -1 <0.004 -1 <0.004 —] €0.004] <0.004] <0.004] 0.04
1,1,2-M)ymnzyy -1 <0.006 -1 <0.006 -1 <0.006 -1 <0.006 -1 <0.006 -1 <0.006 -1 <0.006 -1 <0.006 -1 <0.006 -1 <0.006 -1 <0.006 -1 .<0.006( <0.006{ <0.006] 0.06
1L,1-yymuxfly -1 <0.02 -1 <0.02 -1 <0.02 -1 <0.02 -1 <0.02 -1 <0.02 -1 <0.02 -1 <0.02 -1 <0.02 -1 <0.02 -1 <0.02 -] <0.02] <0.02[ <0.02 1
YA-1,2-yauxily -1 <0.04 -1 <0.04 -1 <0.04 -1 <0.04 -1 <0.04 -1 <0.04 -1 <0.04 -1 <0.04 -1 <0.04 -1 <0.04 -1 <0.04 -|_<0.04| <0.04[ <0.04 0.4
1,3-v"7un7 Ny —1<0.002 —1<0.002 —1<0.002 —1<0.002 —1<0.002 —1<0.002 —1<0.002 —1<0.002 —1<0.002 —1<0.002 —1<0.002 —] €0.002] <0.002] <0.002] 0.02
et -1 <0.01 -1 <0.01 -1 <0.01 -1 <0.01 -1 <0.01 -1 <0.01 -1 <0.01 -1 <0.01 -1 <0.01 -1 <0.01 -1 <0.01 -|_<0.01| <0.01f <0.01 0.1
vV —1<0.003 —1<0.003 —1<0.003 —1<0.003 —1<0.003 —1<0.003 —1<0.003 —1<0.003 —1<0.003 —1<0.003 —1<0.003 —] €0.003] <0.003] <0.003] 0.03
TUTA -1 <0.006 -1 <0.006 -1 <0.006 -1 <0.006 -1 <0.006 -1 <0.006 -1 <0.006 -1 <0.006 -1 <0.006 -1 <0.006 -1 <0.006 -1 .<0.006( <0.006{ <0.006] 0.06
FANLINT -1 <0.02 -1 <0.02 -1 <0.02 -1 <0.02 -1 <0.02 -1 <0.02 -1 <0.02 -1 <0.02 -1 <0.02 -1 <0.02 -1 <0.02 -] <0.02| <0.02[ <0.02 0.2
Ly -1 <0.01 -1 <0.01 -1 <0.01 -1 <0.01 -1 <0.01 -1 <0.01 -1 <0.01 -1 <0.01 -1 <0.01 -1 <0.01 -1 <0.01 -|_<0.01| <0.01f <0.01 0.1
EEES -1 0.08 -1 _0.08 -1 0.07 -1 0.08 -1 0.09 -1 _0.11 -1 0.09 -1 0.06 -1 _0.10 -1 0.09 -1 0.09 - 0.08 0.11 0.06 10

b o % <0.1 <0.1 <0.1 <0.1 0.1 0.1 <0.1 0.1 <0.1 <0.1 0.1 <0.1 0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 0.1 <0.1 <0.1 <0.1 <0.1 0.1 <0.1 8
L4-DAF Y -1 <0.05 -1 <0.05 -1 <0.05 -1 <0.05 -1 <0.05 -1 <0.05 -1 <0.05 -1 <0.05 -1 <0.05 -1 <0.05 -1 <0.05 -] _<0.05] <0.05[ <0.05 0.5
EEF 28 26 27 26 28 24 25 27 25 23 24 23 21 23 20 25 19 22 27 27 26 28 27 25 28 19 -
R 0.44 0.30 0.30 0.38 0.57 0.65 0.61 0.63 0.37 0.35 0.58 0.42 0.38] 0.49 0.33 0.53 0.36 0.46 0.70 0.56 0.64 0.63 0.70 0.50 0.70 0.30 —




